EXREHEBEIZONT

1. ERESR

m B m = fm IR F H
] 2A - 03 2 REBE 1H 2,750 M (RNf 250M)
2ATRIR 2A - 15 1 BRERE 18 4,400 H (A% 400M)
2B - 07 4 [REE 18 3,520 (A% 320M)
2B - 08 4 REE 18 3,520 (A% 320M)
2BJRIE 2B - 10 4 [RENR 18 | 8 520M (AE 320M)
2B - 11 4 [REBE 1H 3,520 (A% 320M)
2B - 12 4 [REE 18 3,520 (A 320M)
3A - 10 1 KREE 18 5, 500 H (A% 500M)
3A - 15 4 [REE 18 2,200 (Nf 200M)
. 3A - 16 4 FRERE 18 2,200 (A% 200M)
SAMRIR 3A - 17 4 [REE 18 2,200 (HNf 200M)
3A - 18 4 FRERE 18 2,200 (A% 200M)
3A - 20 2 REE 1H 2,750 (Af 250M)
3B - 01 2 RER R 1A 2,750 (A% 250M)
3B - 08 4 [REE 1H 2,200 (A% 200M)
. 3B - 10 4 FRERE 18 2,200 (A% 200M)
3B¥AR 3B - 11 4 [REE 18 2,200 H (HNf 200M)
3B - 12 4 FRERE 18 2,200 (A% 200M)
3B - 15 4 [REE 18 2,200 (HNf 200M)
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